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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to

10.30 a.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
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General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

(x)

31/2/2

The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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T A
SECTION A

39 U it o UEd @ HeEdl o U-gH fafae e s TE

— CHO?® |
Write the molecular formula of the first two members of the homologous
series whose functional group is — CHO.

el § 39 377 1 9 e S (1) T ST BT, 3R (1i) H1eT S hifsTeht
39 HT 8 |

Name the organ in humans which produces (i) male germ cell, and
(ii) female germ cell.

foregl 31 STehfcre aTitaat 1 g=t SA13T |

List any two natural ecosystems.

frafafea sm@ &t Taft IT-gfede W Eiget wafda for 1 g g |
Y NG T ATqT HIV (£ i) I qaaH vl (~ r) i Afera Hifvw |

T~
— ]

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

T~ Y
—

FB A1 w9 fafagar @1 fafire Ty@” =90 9 @1 @ 2 W B @ U
s ek g1 i SRk a7 R ga-Sfed o Jeed | JuTelt ANEH ¢ Hehal
2|

Why are certain forests considered “biodiversity hot spots” ? Suggest any
two ways in which an individual can contribute effectively to the
management of forests and wild life.

3 P.T.O.
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et $ei % e % Icarel ohl G SH1ST | 39 IUE) o YAl W BRI
JHTE Wl Ieei@ HITT |

List the products of combustion of fossil fuels. State the harmful effect of
these products on the environment.

fopeft ey <hl T T 19 7 |

(a) 39 a9 ol sl o forae a8 futfa Fifve & () 3@ T i
TSR] 1 8, AT (ii) FIT I8 T 9Tq 8 AT 741q |

(b) 39 d % Ifadrss &1 g7 fafen |

(c) o I8 a@ Na (WEW] @& 11) i ga1 | afess srfufsramsfia 2
AT HH ATUTHATEA ? 39 I h 3T Afgd gfee HIfrT |

The atomic number of an element is 19.

(a)  Write the electronic configuration of this element and determine
(i) the valency of this element, and (ii) whether this element is a
metal or a non-metal.

(b) Write the formula of the oxide of this element.

(¢) Is this element more reactive or less reactive than Na (atomic
number 11) ? Justify your answer giving example.

freft otmad Twelt § awal o affetor o oI o] geme Sl gerT ® T
T ! AT IUYH T I THT ST 8 2 3Ny oTad aneft # (i) fereft
HEd H 918 AR ¥ qE X I W, W (i) Frelt T § IR @ 9 IH W
il ol wifeash e fohg JehR afafda BT @ 2 319 Il shT HRoT dfgd gfse
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

i o1 -gH fafagu, 3R sHeh! T= ity | arferet o €9 | 39 & U1
1 g sars i weaash Aifies st it & e g 8 |
Write the molecular formula of benzene and draw its structure. List in

tabular form the two properties in which covalent compounds differ from
ionic compounds.
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T <4 g AT Hife ok TEn w4 3 fo e 7 a1 ¢4+ gemE o1 Fehar @
3R T & C4~ FUMRA ST Hehal 7, T T8 HggAIsil Aeh 1T 8 91 foegd &
FaTcAh B & 3 FehT = Teares R i a/aeATes 8T # |

Explain, giving reason, why carbon neither forms C* cations nor

C*~ anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

fopet 7% TfEf o 3IgWa W HEEh fohedl o9 Hehi i I SHISY 3R T
1 yfterr 1 39 fawa & 3g@ fifvw |

List any three factors and mention how they could lead to the rise of a
new species.

Sfiat # foerrfia Trery @iem i fhegl @ fafemi o1 v Hifv |

Describe any three methods of tracing evolutionary relationship amongst
organisms.

St o fafYear fora yohR 3caa Bt 7 2 “fafvrman wfisfisr it Saesiifaar s
@A 4 39t B |7 39 sed 6t gfee foreft 3gretor i wgran @ i |

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

qTeeHeH @1 7 ? ToREll U Sta &1 3w G S 3 wfshan @i g @ 3R
T Sf1a ST 9 lRAT i TR AT @ | 91 aTel Sfal H geewed i Aal g ?
What is regeneration ? Give one example of an organism that shows this
process and one organism that does not. Why does regeneration not occur
in the latter ?

TAYST FT B 2 b & IHE@ AT BT qui HIfT |

What is placenta ? Describe its two major functions.

forelt < g o= wfdferar &1 smmadq — 1 8 | Ife gfafors it <@ & ehifyres
%5 4 gl 35 cm @, A1 fora gl fEd 8 2 39 oW 1 Wl 3R BihE gl &=
2 2 afe fora =1 8 & TR heg Sl AN 20 cm TIFTANG T feam e, ar
gfdfers gl S TR 3Eeh! Thid o1 Bt 2 70 I i gfe & fou fer
@ Eifw |

The magnification of an image formed by a lens is — 1. If the distance of
the image from the optical centre of the lens is 35 cm, where is the object
placed ? What is the nature and focal length of the lens ? If the object is
displaced 20 cm towards the optical centre of the lens, where would the

image be formed and what will be its nature ? Draw a ray diagram to
justify your answer.

5 P.T.O.
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TSl T FehIUH T B ? 39 UNEeAT hl gl ¥ e Hife R W@
TR T TT et qn FATeT o T0F g Thd I Jdid g @ |

What is scattering of light ? Use this phenomenon to explain why the
clear sky appears blue and the sun appears reddish at sunrise.

ekl wraTSt Y wed € I8 @ oft fh well & W@ (S@) wft & forw st

WL B1d 8 | T fed 34 guem-ug § 9% uel fh aNR § 3uasy 9

FUSH % Hodl o W H $S T qeh WSHATM U T | 30 THH I8 SAThA @l

T8, Fifeh fIgehaTsfl gAR Tameey & fou g1fAent 2 2 |

(a) 39 A ATATSH 1 FTRL NSHATRET GRI Al o &I 3l HGHA BT
fora weh TwemER 2

(b)  ¥§ el ITal 7 fb ¥g gt dreshmell guR 3te@n 3= Sfiat o R |
TAY ek WA Bld A @ 3R Th WA A A B W AR I Rl
ffTed Tk M Ugald 8 | 38 GNEed & AW 3R 3k fow H
ferfe |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides

in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b)  Itis said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.

IqA AE o TR H gl (w) o W1 Sfdfers-gl (v) % fore=or i gunie areft
frfaRaa Yeror arferert w1 fazervor iy it aferem fopg fom & frfafea

. Fore .
& u (cm) v (cm)
1 -60 + 12
2 -30 + 15
3 - 20 + 20
4 -15 + 30
5 —-12 + 60
6 -9 + 90
6
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ITA OE I BT gl fehaHl @ ? 310 IT % T HRT T |

T8 fora-gll (w) 3ma hife Reeht deredt gfafamglt (v) w8t 761 8 | 78

e a1 foRm

Jeh et 2

w3 Wi IUYH TAMT TR J&J0 T 4 o o7 fopor @ Eifew ik

ST ST T

A T4 hifST |

observation table

showing variation

of

image-distance (v) with object-distance (u) in case of a convex lens and

answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

3. No. Object-Distance | Image-Distance
u (cm) v (cm)
1 - 60 +12
2 -30 +15
3 -20 + 20
4 -15 + 30
5 -12 + 60
6 -9 + 90

What is the focal length of the convex lens ? State reason for your

answer.

For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of

magnification.

et guuni < "ol § frfafad aai i i i

i gd

(i)  Sshdl g
(i) Skt Br=
(iv) ¥H&T Aq

(i) STgae guuT, 3R (ii) ITA UV &% G&I BIhH i g o forw femzor

@ difvu |
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(a)

(b)

(c)

21. (a)
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fafafag sm@ #, MM’ g 37add <4 8 9971 AB IS fora 8 | 39
fors &1 ufdfors s91 quid & fou oot ST-gfeqe @ foor em@
Fifer |

W —> >

}
;
Define the following terms in the context of spherical mirrors :
(1) Pole

(ii))  Centre of curvature

(iii) Radius of curvature

(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

In the following diagram, MM is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

/

MI

W >

A 53 o Ffafad @ wm w1 wr fafe

(i) oI

(i)  9RaTieEn

(iii)  Topeecta (1fym) <™
(iv) gemreft ufsm

(v) e
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(b) #HIs ARH 1 m ¥ A g W feord foral ol wowe 21 o@ wrar | 98 fopd
gfe aw | difsd B 2 39 gfSe QY o1 SRV 3R IUYH <F g SEHI
TeMeE g & fore oo s Eif |

(a)  Write the functions of each of the following parts of the human eye :
(1) Cornea
(i)  Iris
(iii)  Crystalline (Eye) lens
(iv)  Ciliary muscles
(v)  Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable
lens.

TS 1 Bid 8 2 el bl fohE TR /@ ST 2 ? B arell 31fifshan <k
TEEtS iR fafgu | & gar 3 99 s Tl |ifsam BEgiadrss & a1y
AfYfsRaT wtar 8 2 39 Afshan o1 qEmfaes Hietr, 9m 3t 39 fafau |
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

Tehferfl 3 Ivaferft godi <1 Ush-Ush 330 AT | i # B dTel W
T YR & o= fadgT HIT | w1 a1 8 J9 HIg WrTehu fohet 3uh afdem
T UET AT 2 ? JUSRE H &S FHivr % B ATt gensti % aR § ffay |
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

Sfiamen &1 g & ? Sfiawn fhd YR §9d 8 3R 3Rl o1y 1 faier few
JehR Toman SITaT 8 2 Sa faerm & Stea3H 4 Sfiaredi & 78 &1 oo hIfT |

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

9 P.T.O.
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g
SECTION B

25. frefafea § @ gusa 1 %1 gg= g

(A)
(B)
()
(D)

THMCE & Wg 3R faqelt & 9@

HYWR h T@ AN THMEE % @

foaeht & T@ 3 Fm & 1@

T & TUUTE, T & IUTE 3N fBushedl & 31U

Select a set of homologous organs from the following :

(A)
(B)
(®)
(D)

Wings of a bat and wings of a butterfly

Wings of a pigeon and wings of a bat

Wings of a butterfly and wings of a pigeon

Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

26. e H gFHad i ufshan o fow F=faRaa sl 8 @ 98t em/HeH @ g

L

II.

III.

IV.

(A)
(©)

S IR @ AT s Hdfa wifsese § fawfoa gt 8 3 I8t
S o 31fEdcd AT &1 SI1dT 8 |

3ai Aefiehd hegeh a1 A1 STfieh Tt hegehl § fadia Ban & |

T I % et fomiw & § IS gopel 3T R |

S A H AT BH % IYETd Ghd QU1 foehfa 2o 7o wad St s
AT R |

Faet 1 (B)  had III

ehad 11 3R 111 (D)  <had III 3T IV

Choose the correct statement(s) on budding in yeast from the following :

L

II.

III.

IV.

(A)
(®)
31/2/2

A parent cell divides into two or more daughter cells and here the
parent identity is lost.

In this the elongated nucleus divides to form two or more daughter
nuclei.

A bud arises from a particular region on a parent body.

After detaching from the parent body the bud grows into a new
independent individual.

I only (B) III only

IT and III only D) III and IV only
10
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27. et B &l HI3 TR Itk @ 71 2 fweh wikw gl a7 gd & uldfars 1
i 1 & feRn 39 g 24 om gl W U UG W BT Feh F1q Bl

2 138 I & 9R § Tdl A g | 1
(A) 12cmqoﬁwa§r$r3ﬁaz&m

(B) 24 cm BI%H gl I I oF

(C) 24 cm WIHd g &1 IFadA ol

(D) 12 cm BIHH G H1 3T @ H

An optical device has been given to a student and he determines its focal

length by focusing the image of the sun on a screen placed 24 cm from

the device on the same side as the sun. Select the correct statement about

the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 cm
(C)  Concave mirror of focal length 24 cm
(D)  Convex lens of focal length 12 cm

28. A o Tid Y TERA aTclt T foRtor &1 v 3RfRad s & fore f=fafaa o
T gAY T SaEn T 1

<
/

(A)
(B)
(®)

(D)

31/2/2

IT
ITI

IAY

11 P:T.Q.
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Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

i
e
/

I II III v
A 1
B) 1II
(C) 1
(D) IV

3o 3 ferel ST ofE g Tk gy e, TRl emefa e @ W R, %
Sicfers ! 9¢ W B L &, a1 9¢ W Aldfsrs i mepid et fowrs ot
27

(A) (B)

(®) (D)

12
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When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on
the screen is

AN

\4 \14
(A) (B)
©) (D)

AN AN
frfaftaa sm@ o Si9-wH 4 S0 g8 3ifkd fre mu g 2 1
(A) & (B) had Li3MM LA
(C) Zi,ZLr3W LA D) Zi,ZA3IR 2D

In the following diagram, the correctly marked angles are

(A)
(®);

All (B) OnlyZiand ZA
Zi,Zrand L A D) Zi,ZAand«ZD

13 P.T.O.
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81. Ifg 319 forelt el H $ Yd I bl 39H THH AT § UHIReH 3
et ofi iRt 38 fasmn =i weft-wifa feamd ofit $8 v & T 38 waset
g T forT feau-gare W@ ¢, af @9 5 e qeenq Tmd o deror il ?

(A)
(B)
(®))
(D)

UHifee 3Tret Sl 9T W ST hl W |

IS YT TEAA! sl qell W S & 7 |

e 8 TR 1 % g e ©@ # |
T B e, TRF UReel faeee o T 8 |

If you take some distilled water in a test-tube, add an equal amount of

acetic acid to it, shake the test-tube well and leave it undisturbed on the

test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
©)
(D)

There is a layer of water over the layer of acetic acid.
A precipitate is settling at the bottom of the test-tube.
Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube.

32. frfafga ammft & ay=i § @ fopdent TR A1gA s | foRam S Tehar g 2

(A)
(B)
©
(D)

Fm 1 99 AR Ffewm FEeiaaEs
WU 1 del IR ASIH B5gieass
Qe a1 3Tk Tifsam grggidaTss

i @1 a1 3R AR FEgieETss

Which one of the following sets of materials can be used to prepare soap ?

(A)
(B)
(®)
(D)

31/2/2

Neem oil and calcium hydroxide
Castor oil and sodium hydroxide
Mineral oil and sodium hydroxide

Neem oil and magnesium hydroxide

14

Schedule a Tutoring Session today!
Call Now: 91729 66488 &)

wWww . premacademy . com




33.

34.

35.

31/2/2

Place for Rational & Educational Motivations!!

IR TATTRITEAT § haR A s o f7C a1 T 7 | F=fafad @@on a9z

H ¥ 38 "g &l g, ek fhet off T @au @i 19 gd Ia H et
FHSK A YT HL Thd & | 1
(A) NaCl; NagSO4; KCI

(B) NaCl; CaCly; KCI

(C) CaCly; CaSO4; MgSOy

(D) NaySOy4; CaSO4; MgSOy

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in
distilled water to obtain hard water.

(A) NaCl; NagSOy; KCI

(B) NaCl; CaCly; KCl

(C) CaCly; CaSOy4; MgSOy4
(D) NaySOy4; CaSOy4; MgSOy4

hid o FAHT TAS W 45° o hIU W AYfdd TehTe femoT 1 99 TRRgd
FHIfTT | 319aca v, fid v 3R wE ¥ 9 1) R § 89 g aiivass
oo <1 7g fafEe | 2

Trace the path of a ray of light incident at an angle of 45° on a
rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suffered by the ray as it
passes through the slab.

(A) 3fe @ wHifew o & Frafafaa o ureamt & Jeon < fad foram
& fo wvet SE, @t 31y @ fore 2

(1) Y
i) foren® W ywE
(B) 3G 39 Ueh WEACH H Uh Feoh! AMSTT BIEGINH HIEHE TIPS Thhl
34 §g-dg ik UHIfCH A Slol, I MY gL & F Y& HAT ?
foredl < g Jegvit it g=ht s | 2
15 P.T.O.
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(A) If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(1) Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

el ‘T % WfiT b yur & faftm v B gEE wET H O HET R
ATk gRI AIHATE S aTed! Ufsham sl 9uia shifere |

You have to perform the experiment, “To identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

16
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